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Agree or disagree? v x
Can you make ép with two coins?

Yes: 3p plus 3p is ép

Agree or disagree? v x

Can you make 8p with two coins?

ﬁ Yes: 4p plus 4p is Bp]

| can buy...
You have these coins.

Circle each toy that you can buy.

g
35p 38p 30p 28p
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Two ways

Make each amount in two ways.
You can use each coin more than once.

5p 5p bp bp
11p 11p 30p 30p
Two ways

3 coins add to make 12p
HRjNN
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-Ill the gaps

price pay with... change
27|

price pay with... change
dOs v

price pay with... change
DO 3p

Explain the mistakes

price pay with... change
DO(| sp

price pay with... change
dOa| op
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